Sheepie __
Product installation

An easy installation

INCLUDED

! 4x i M8 flat washer @
: 4x : M8 locking washer

4x M8 locking nut
: 1x : Fitting key (socket)

\_ /

A WODN =

(p.1)

Step 1: Slide bolts (showninp.1)

Slide the T-shape bolts into the rails from both sides.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Step 2: Positioning (4x) (showninp.2)

—r

Slide the T shape bolts into the middle hole of the rail
Place the U shape stator, m8 flat washer, m8 locking
washer and m8 locking nut.

Screw lightly in advance

Screw the other side of U shape stator

(repeat step 2.2)

5. Use the key (socket) to tighten the locking nut and
apply the original plastic nut (hand bolt)

A

Eall

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Step 3: Fasten (showninp.3)

1. Make sure the tent is centered on your vehicle’s roof
and properly aligned with the mounting brackets.
Firmly tighten the bolts on each stator.

Once the tent is mounted, check its stability. Gently

: : . shake the tent to ensure it is securely attached to the
Thank you for purchasing a Sheepie Anti-Theft kit. It is critical that all Sheepie products are assembled roof rack.

Before you start using this product, we strongly properly and securely assembled to your vehicle. .
advise you to read this manual carefully. Become Improper attachment could result in an automobile
part of our passion and explore like never before. accident and could cause serious injury or death.

©w N

‘.’g@] READ ME FIRST! i | £\ IMPORTANT WARNING!

\_ /

Sheepie Sheepie Anti-Theft Kit © 2024 Sheepie Products B.V.




